
Elke Hautz  Only for informational purpose, will not be replaced in case of changes Print Date:  9/16/2014 10:27 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2002273 1 551610 Drilling stand DD-ST 150-U SFL  15.09.2014 USD /5012922 / * / H 1/4
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

1 2008738 1,000 PC Anchor baseplate STL packed

2 280631 4,000 PC Hexagon bolt with flange M10x708.8 -
VERNICKELT - SPEDCAPS 80

3 276482 4,000 PC Circlip 14X1 stnls.ROSTFREIER STAHL -
VERZINKT

4 280641 4,000 PC Threaded bushing

5 415340 2,000 PC Hex skt hd cap screw M8X75 mc8.8 - A2K -
SPEDCAPS 85

6 16409 1,000 PC Hexagon screw M10X308.8 - A2K

7 221345 2,000 PC Hex nut with flange M88 - A2K

8 406675 1,000 PC Rail support

9 26372 4,000 PC Taptite screw II SN44 5X20 blackEST-
GAL.ZNFE5F+2X D-COLL-SCHWA

10 411595 1,000 PC End plate M16 finpt

11 440372 1,000 PC Hex skt hd cap screw M12X16 mc8.8 - GAL.
ZNFE5F+2XDELTACOLL,

12 409122 1,000 PC Guide rail FL assy

14 208187 1,000 PC Adhesive label WASSERFANG

35 431091 2,000 PC Nameplate DD-ST 150-U SFL

140 2007687 1,000 PC Handwheel DD-HW-3A

141 2007689 1,000 PC Depth gauge DD-ST-150/160-DG

142 2007689 1,000 PC Depth gauge DD-ST-150/160-DG

143 2008182 1,000 PC Plate DD-SW-150

810 30214 1,000 PC Grease MOLYKOTE TP42 100G

901 3994 1,000 PC Adhesive LOCTITE 243 50CCM



Elke Hautz  Only for informational purpose, will not be replaced in case of changes Print Date:  9/16/2014 10:27 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2002273 1 551610 Drilling stand DD-ST 150-U SFL  15.09.2014 USD /5012922 / * / H 2/4
  

 

 



Elke Hautz  Only for informational purpose, will not be replaced in case of changes Print Date:  9/16/2014 10:27 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2002273 1 551610 Drilling stand DD-ST 150-U SFL  15.09.2014 USD /5012922 / * / H 3/4
  

 

 



Elke Hautz  Only for informational purpose, will not be replaced in case of changes Print Date:  9/16/2014 10:27 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
2002273 1 551610 Drilling stand DD-ST 150-U SFL  15.09.2014 USD /5012922 / * / H 4/4
  

 

 


